
 
 

INTERMEDIATE 1 

LIST 3 

1) Rewrite the evaluations using the words in parentheses: 

Example 

There are only a few restaurants nearby. (not enough) 

Answer: There aren’t enough restaurants nearby. 

a) It’s not convenient enough. (too) 

_________________________________________________________ 

b) It’s too dangerous. (not enough) 

_________________________________________________________ 

c) There’s only one bedroom. (not enough) 

_________________________________________________________ 

d) It’s not spacious enough. (too) 

_________________________________________________________ 

e) There’s only one parking space. (not enough) 

_________________________________________________________ 

 



 
 

2) Change these comparisons using “as ... as” and the words in 

parentheses: 

Example 

Houses are bigger than apartments. (big) 

Answer: Apartments aren’t as big as houses. 

a) An apartment has more privacy than a house. (privacy) 

_______________________________________________________ 

b) Apartments are noisier than houses. (noisy) 

_______________________________________________________  

c) An apartment has fewer bedrooms than a house. (bedrooms) 

_______________________________________________________  

d) Apartments are safer than houses. (safe) 

_______________________________________________________ 

e) Houses have more space than apartments. (space) 

_______________________________________________________ 

 

 



 
 

 

f) Houses and apartments are both comfortable. (comfortable) 

_______________________________________________________ 

g) Houses and apartments have an equal number of parking spaces. 

(parking spaces) 

 _______________________________________________________ 

h) Houses and apartments have noise. (noise) 

 _______________________________________________________ 

 


